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L. 1 mwn: Three times a year, all "230> MINWn are on a par (at the 0o1), affecting:
a. D577 1N meaning — that which is stated about the n9»
i. Source: v.1—only applies 719w TnRn >when all of 987w’ BY comes into same gate (07937)
b. Dividing 2977 on5 (71071 naw): source — v. 2, which cannot refer to n11p (already covered in v. 3)->o290 onY
i.  Does not extend: to non-»1 obligations brought during 9
1. Per: v2 —only that which the max “sold” to each other — each one’s respective week
c.  On mynv(nawi w/onon ons & onsa 'nw): they give everyone some n¥n (0790 nnY) and some pnn (ondn 'nv)
d. However: the 1Mnwn whose week has come out during the an offers up the p1nn and all voluntary offerings
i. And: 1% m17p - and they offer everything
1. Alluding to: 17ax 5w 927 0YYN 19, "y 1YW and namn y»p — all brought by that wnwn
II.  “Side-door” discussion — application of 7Tn 1RY 17N to N0 N2I2 and jnr n>1a
a. 37 order is N2 and then jnt — the day’s obligation is favored
b. n7237 a1 then N2 — based on 11N
i. Proposal: they are following n”2/v”a (®:n m211) - if so, 21 is following w”a (I?)
ii. Defense (for 27): n"a only apply m71n for their primary reason — the wine allows v17p to be said
1. But: we would say noyon nava without jnr
iii. And (for n7237): v"1’s stated reason is that the “day” is the reason the wine is there
1. But: we would recite 11 without a n210 as well
iv. Challenge (to 37): our mwn — they offered the nxn (5av) first; must be due to M7 of m1an ond
1. Defense (for 37): it is a ©Xan nponNn
a.  Ar733 n¥n then pnn; 9IRY RaR reverses the order
c.  Practicum: w701 2192 19M 1 — 01 and then N0
i. Dissent: "R 177 1’12 nYW 17 — 1210 and then p1 - 130
I 2r mwn: When v"» falls out next to naw (before or after), all manwn were equal in dividing o290 onb
a. Meaning: if v"v ends on ) DY or begins on & 0V (else, it would be 710 Naw)
i. Reason: since they had to come early or stay around, they were given equal portion
IV. n mwn: Continuation of the end of 1 mwn — division of m9n onY around Y» and the rest of the year
a. If: there is a day between v and nav, the “correct” 1nwn would take 10 loaves, the “lagger” — 2
b. And: the rest of the year — the entering group and leaving group would each get 6 loaves
i. Am 77 the entering group would get 7 and the departing 1nwn get 5
1. Reason: “pay” for sealing doors that entering 1nwn has as a task
2. Question: why doesn’t the exiting group request even division
a. Answer: nobody wants to give up their immediate (entering) advantage
3. amp a7 they divide mmy of the pavin equally
a.  Challenge: Rn12 detailing each 1mwn’s tasks on naw omits o’pon
b.  Defense: Rn»11 is only focused on tasks, not npyn
i.  Challenge (827): other version, focused on mp5n, omits it as well
ii. Refutation: of nTn’ 17
c.  Location: the new 1mwn would divide and eat on the north side of the naty; the old anwn — in the south
i. bz always divides in the south, their ring is fixed and their window is sealed
1. Background story: of n3»»a na on — leading to censure of 1nwn (v. 4)
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